Robot Maths - Linear sequence
position-to-term rule

What is the position-to-term rule for this sequence?

2) Find the value of the term
before the 1st term

Rule = N

3) If your answer to step 2 is a positive number, put a ‘+" here

If your answer to step 2 is a negative number, put the '-" here

© Adam Up Maths



Robot Maths - Linear sequence
position-to-term rule

What is the position-to-term rule for this sequence?

2) Find the value of the term
before the 1st term

Rule = N

3) If your answer to step 2 is a positive number, put a ‘+" here

If your answer to step 2 is a negative number, put the '-" here

© Adam Up Maths



